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BACHELOR'S DEGREE PROGRAMME 

Term-End Examination 

June, 2015 

ELECTIVE COURSE : COMMERCE 

ECO-11 : ELEMENTS OF INCOME TAX 

Time : 2 hours 	 Maximum Marks : 50 

Note : Question no. 1 is compulsory and attempt any three 

questions from the remaining questions. 

1. Mr. Ram Niwas is employed in a government 14 
college at Rampur. He receives salary of 40,000 
per month, Dearness Allowance 20% of salary, 
and House Rent allowance 8,000 per month. 
The employer also paid his telephone bills of 

12,000. He paid house rent of 10,000 per 
month. He was provided with a car with an 
engine capacity of 1600 CC for his office use, and 
also gets a facility of a servant who has been 
appointed by Ram Niwas himself. Salary of the 
servant is 2,000 per month which is paid by the 
employer. Compute his taxable salary for the 
assessment year 2014-15. 

2. (a) State the main provisions relating to 6, 6 
residential status of a Hindu Undivided 
Family. 

(b) Define 'agricultural income' and state its 
various kinds. 
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3. 	(a) Mr. O.P. Goyal is the owner of a large house, 
the construction of which was completed 
in May, 2010. 50% area of the house has 
been let out for a rent of Z 20,000 per month, 
and the remaining part is used by him for 
his own residence. House comes under Rent 
Control Act. Other details are as follows : 

8, 4 

Municipal Value 3,00,000 
Standard Rent 6,00,000 
Municipal Tax 30,000 
Repairs 20,000 
Interest on loan taken 

for repairs 
2,00,000 

Land Revenue 10,000 
Annual charges 12,000 
Fire Ins. Premium 15,000 
Collection Expenses 2,000 

Compute Mr. Goyal's taxable income from 
house property for the assessment year 
2014-15. 

State the rules regarding taxation of 
encashment of earned leave on retirement 
by a non-government employee. 

4. 	(a) State the provisions of Income Tax Act 8, 4 
regarding exemption of long-term gain 
under Section 54 F. 

(b) State the rules regarding grossing up of 
interest on tax free commercial securities. 
Also give an example thereof. 

(b) 
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5. 	(a) Compute Mr. Ranveer's taxable income 6, 6 
from other sources for the previous year 
2013-14 based on the following data : 

(i) Dividend on equity shares 6,000 
(ii) Income from letting on hire 27,000 

of building and machinery 
under composite lease 

(iii) Interest on Bank Deposits 	2,500 
(iv) Directors fees 	 12,000 
(v) Income from undisclosed 	10,000 

sources 
(vi) Winning from horse race 	7,000 

net received 
He claimed deduction of 4,000 on account 
of depreciation as allowed and 100 for fire 
insurance premium on building and 
machinery. 

(b) State the rules regarding deduction allowed 
from Gross Total Income in respect of : 
(i) Expenditure on preventive health 

check-up under sec. 80 D, and 
(ii) Expenses on treatment of specified 

diseases under sec. 80 DDB. 

	

6. 	Write short notes on any two of the following : 	6, 6 
(a) Previous year 
(b) Inter-source and Inter-Head Adjustment for 

set off of losses 
(c) Residential status of HUF 
(d) Best Judgement Assessment 

	

7. 	(a) Explain the concept of casual income with 	6 
three examples. 

(b) State three incomes which are exempted 	6 
from tax under section 10. 
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(b) 	dcf Trq'f 	kicirtiff kicno aTrzt 	aTT:rd 
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